

4.1.8 - Rearranging Formulae

4.1 - Algebra - Expressions

Leaving Certificate Mathematics

Higher Level & Ordinary Level



Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

$$ut + \frac{1}{2}at^2 = s$$

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

$$ut + \frac{1}{2}at^2 = s$$
$$ut + \frac{1}{2}at^2 - ut = s - ut$$

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

$$\begin{aligned}ut + \frac{1}{2}at^2 &= s \\ut + \frac{1}{2}at^2 - ut &= s - ut \\ \frac{1}{2}at^2 &= s - ut\end{aligned}$$

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

$$\frac{1}{2}at^2 = s - ut$$

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

$$\begin{aligned}\frac{1}{2}at^2 &= s - ut \\ 2\left(\frac{1}{2}at^2\right) &= 2(s - ut)\end{aligned}$$

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

$$\begin{aligned}\frac{1}{2}at^2 &= s - ut \\ 2\left(\frac{1}{2}at^2\right) &= 2(s - ut) \\ at^2 &= 2s - 2ut\end{aligned}$$

Example 1

Q. Make a the subject of the formula $s = ut + \frac{1}{2}at^2$

Answer:

$$\begin{aligned}\frac{1}{2}at^2 &= s - ut \\ 2\left(\frac{1}{2}at^2\right) &= 2(s - ut) \\ at^2 &= 2s - 2ut \\ a &= \frac{2s - 2ut}{t^2}\end{aligned}$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$k\sqrt{\frac{l}{g}} = T$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$k\sqrt{\frac{l}{g}} = T$$

$$\frac{k\sqrt{\frac{l}{g}}}{k} = \frac{T}{k}$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$k\sqrt{\frac{l}{g}} = T$$

$$\frac{k\sqrt{\frac{l}{g}}}{k} = \frac{T}{k}$$

$$\sqrt{\frac{l}{g}} = \frac{T}{k}$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$k\sqrt{\frac{l}{g}} = T$$

$$\frac{k\sqrt{\frac{l}{g}}}{k} = \frac{T}{k}$$

$$\sqrt{\frac{l}{g}} = \frac{T}{k}$$

$$\left(\sqrt{\frac{l}{g}}\right)^2 = \left(\frac{T}{k}\right)^2$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$k\sqrt{\frac{l}{g}} = T$$

$$\frac{k\sqrt{\frac{l}{g}}}{k} = \frac{T}{k}$$

$$\sqrt{\frac{l}{g}} = \frac{T}{k}$$

$$\left(\sqrt{\frac{l}{g}}\right)^2 = \left(\frac{T}{k}\right)^2$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$\left(\sqrt{\frac{l}{g}}\right)^2 = \left(\frac{T}{k}\right)^2$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$\left(\sqrt{\frac{l}{g}}\right)^2 = \left(\frac{T}{k}\right)^2$$
$$\frac{l}{g}$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$\left(\sqrt{\frac{l}{g}}\right)^2 = \left(\frac{T}{k}\right)^2$$
$$\frac{l}{g} = \frac{T^2}{k^2}$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$\left(\sqrt{\frac{l}{g}}\right)^2 = \left(\frac{T}{k}\right)^2$$

$$\frac{l}{g} = \frac{T^2}{k^2}$$

$$g\left(\frac{l}{g}\right) = g\left(\frac{T^2}{k^2}\right)$$

Example 2

Q. If $T = k\sqrt{\frac{l}{g}}$, express l in terms of T , k and g .

Answer:

$$\left(\sqrt{\frac{l}{g}}\right)^2 = \left(\frac{T}{k}\right)^2$$

$$\frac{l}{g} = \frac{T^2}{k^2}$$

$$g\left(\frac{l}{g}\right) = g\left(\frac{T^2}{k^2}\right)$$

$$l = \frac{gT^2}{k^2}$$